= | ab Quiz
= Pre-lab Lecture
** Plasmids: Basics + Gel EP

** DNA Ligation

0

** Bacterial Transformation
** Today in Lab: M2D4



* Module 1 drafts returned tonight

— 2 wks to revise, due 11 am Thu/Fri

* Module 2 versus Module 1
— growing sophistication and self-reliance
—in lab work pb*nﬂs wi\l g s prlf(4

—in report facug vy corg ’(’fvx“i (pvt toch ritp )
— this doesn’t mean don’t ask questions!
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Plasmid Overview
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DNA EP: Shape-dependence
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Plasmid versus linear samples
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Restriction Enzymes for Cloning
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. DNA Ligation
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What factors affect yield?
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Bacterial transformation
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DNA Amplification in Bacteria

Plate bacteria + DNA mixture
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A grow/test multiple candidates?
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IranstTormMation CONtTrols + outcomes
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Miller assay calculation and result
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What was the key finding from your first assay?
What do you expect from your new construct?




Today in Lab (M2D4)

* Decide on a workflow you like
— Goal A: Ligation/transformation of pED-IPTG-YFD
— Goal B: IPTG = lacZ transfer function (plate assay)

* FNT

— | will send an email when it’s finalized
— Have a great spring break!



